R EAR/ 55

F5 M w4 g BRI KR

1 EEr | TR [ 36.58/129.02 |k i 52 5k b fid FH AU 77 )= T A AL
2 SN | ERIN 39.84/222 | Akt HAE ALK s B A AL
3 M“ﬁ TIRNE | 38.52/91.93 [/ k) a2k b fd A AU 5 R BT A AL
4 BA | skkEA | 38.3/132.95 |fh A H B b5 2 BT A AL
5 M“ﬂ Tk | 39.97/140 [ k) gk b g B AR B R BT AL
6 BA | F R | 36.69/127.83 |4 g5 A5 H BN 55 )2 AT A AL
7 M“ﬁ THigs | 37.84/108.48 [k k) g2k b fd F AU b5 B BT AL
8 EER | EART [37.56/107.58 [ i) 5 ik Hbfi F AU 3 )= T A AL
9 M“ﬂ T XkFE | 37.78/107.82 |4 k) 52 b gk F AU s R BT A AL
10 BA | RS | 36.34/102.94 | ks 5 3 b 5 B s 2 T AL
11 M“ﬁ FiEr | 36.89/104.41 [k k) 52 b f F AU B R BT A AL
12 Sk | Fuge [ 37.03/75.98 [ i s ik Hb A FHAUR b )= T AL
13 M“ﬁ ERA | 39.54/41.05 [ i) 52 5 M A FAUE 53 )= T A AL
14 BA | Rk | 38.65/103 | g T H B B 2 BT A AL
15 M“ﬂ T itE | 40.54/116.83 [ k) 52k b fd B AR B R BT A AL
16 B | kEESC | 37.12/107.1 [k T b A8 FH AL s = BT A AL
17 M“ﬁ T4 | 39.72/111.34 [ b a2k b fd B AUR B R BT AL
18 S8R | P [40.45/116.12 [ i) 5 ik b A B AU 3 )= T AL
19 M“ﬂ Foik | 39.62/113.59 [ k) 52 b fi F AU B R BT A AL
20 BA | Ebgr | 42.15/48.67 |4k T A H B B 2 BT AL
21 M“ﬁ TE | 67.79/244.79 [ k) 52k b fd F AR B R BT A AL
22 L5k | AT | 71.05/154.66 | gk b 3 A B AU, e 2 BT A AL
23 M“ﬁ Tk | 70.93/155.6 [ k) a2k b g B AU B R BT A AL
24 BA | keS| 37.13/101.3 | g A H B b5 2 BT A AL
25 M“ﬂ TEFE | 56.92/229.12 & k] 52 Ik b fd F AR B R BT A AL
26 BA | EREE | 37.44/101.19 |4 52 3 45 B s 2 BT AL
27 M“ﬁ gk k7 [ 36.62/132.77 | 4% A o Jk i A UK 5 J= T AL
28 236 | Fal4 | 34.51/78.22 bt ae 3k A FAUR 2 2 AT AL
29 M“ﬂ FIiA | 50.16/208.5 |4 k) 52k b f F AU B R BT A AL
30 B | MRigse | 49.66/158.28 [k k) g kb g B AU Bs 2 T AL
31 M“ﬁ Tt | 48.73/155.4 R k) gk b g F AU B R BT A AL
32 SR | FHRE [102.96/325.06[ 4 ff 5 Jk Hbfi FH AU b3 )= T AL
33 M“ﬁ TWEss | 51.78/181.43 [& b gz kb fd A AR b5 R BT AL
34 B | FEREE [ 54.12/234.96 [k k) 52 b fd B AU P52 BT AL
35 M“ﬂ THS | 100.56/408.7 |4 k) 52k b gk F AU B R BT A AL
36 BA | EARHEE | 51.32/266.35 | A 5 T H B b5 2 BT A AL
37 M“ﬁ T E | 36.17/36.17 &k a2k fd A AUR 5 R BT AL
38 SR | #AE  [56.62/141.98 |4k i) 58 5 Hb Al FH AU 5 J= BT A AL
39 M“ﬂ TR | 57.91/153.82 [ 4 k) 52 b gk F AU B R BT A AL
40 BA | VAR | 47.51/92.23 |k 5 A H B B 2 BT AL
41 M“ﬁ FIiA | 53.02/53.02 [ k) 52k b f F AU B R BT A AL
42 SR | FANE | 12.77/14.28 |t e S AR S5 2 BT AL
43 M“ﬁ T EA | 44.29/74.68 /& k] a2k b fd B AR b5 R BT AL
44 BA | ESt | 49.79/83.02 | Ak A H B b5 2 BT A AL
45 M“ﬂ x| 35.71/35.71 R k) gk b fd A AU B R BT A AL
46 HA | FHE4E | 30.09/30.09 | A d I T H B b5 2 BT A AL
47 M“ﬁ TWEks | 40.72/40.72 [ k) a2k b fd B AUR B R BT AL
48 &8k | T4 | 25.63/25.63 [k i) e ik Hb A FH AU 3 )= T A AL
49 M“ﬂ Tt | 37.48/37.48 [k k) a2 kb fd F AR B R BT A AL
50 BA | FAET | 39.07/39.07 |4 g (5 AU 5 2 T AL
51 M“ﬁ B 38.9/38.9 At bl AU 55 B BT A L
52 S35k | T4 | 46.36/83.54 |k o 3 Hb A FHAU 2 T A AL
53 M“ﬁ Tk | 37.67/37.67 [k oIk e A AR 5 R BT AL
54 B | Tk [ 44.41/172.41 [k b A8 R AU B = BT A AL
55 M“ﬂ XIFRS | 44.25/182.98 | A AT 52 5 b {3 FH AU 5 2 BT AL
56 BA | A | 86.58/147.75 |4k a5 i A5 AU 55 )2 T AL
57 M“ﬁ TRaeR | 39.42/37.33 [ k) a2k b fd B AU b5 B BT AL




58 T [66.37/107.41 [k i) 5 3 Ak B AR 53 )= T A AL
59 T2 | 54.67/187.45 [ i 5 ik Ak FH AU g J= T AL
60 Tt | 54.84/222.91 |kt 2 i A FHAUR 5 = T AL
61 T lift [120.57/370.76[ 4 i) 5 3k A Ak F AU 3 )= T A AL
62 AR [112.99/225.98( 4 k) 52 b4 F AR B R BT AL
63 AR | 57.9/160.29 [k i) 52 3 M Ak A AU o J= T A AL
64 T4 | 64.02/64.02 [ k) 52 b fd F AR B R BT AL
65 W [ 41.91/124.72 [ i 52 5 A B AU 3 )= T AL
66 T2k |39.37/116.71 [ k) a2 kb fd B AR 5 R BT AL
67 Timte | 48.44/137.34 [ i) 5o FE A F UK B J= T A AL
68 Tt | 78.62/78.62 |k v 5 5 M Ak F AU 53 )= T A AL
69 Ek | 52.37/89.21 [k i 5 ik M Ak FH AU o J= T A AL
70 Sk R | 40.94/68.21 | & A o i H A B 5 J= T AL
71 T | 53.9/87.05 [k i) 5 ik Ak FH AU o J= T A AL
72 ToiNE | 45.42/45.42 | k) a3k b i B AR B R BT AL
73 T2 | 49.63/49.63 |4 i 5k M Ak F AU o J= T A AL
74 Tt | 56.81/157.33 [ k) g2k b fd F AU B R BT A AL
75 T FHok [ 55.27/143.66 [ i) 5 3 M A F AU 3 )= T A AL
76 Ty | 58.82/162.85 |4k ki) 42 Jik b gk A AU s 2 BT A AL
77 T nEE 78.7/78.7 | Aht e HAS AU s R A L
78 Tk | 43.62/74.59 |k i 5 5 M Ak B AU 5 )= T A AL
79 ok | 47.14/80.94 [k i 5 i M Ak FH AU o J= T A AL
80 T | 55.23/55.23 [ b a2k b fd A AR B R BT AL
81 TRE | 56.32/56.32 |4 i) 5 ik M Ak F AU o J= T A AL
82 T30 | 57.11/136.47 [ v 5 3 M A B AU S5 )22 T A AL
83 s | 69.3/110.93 [k i) 5 i H Ak A AU o J= T A AL
84 TR | 66.28/98.96 [k i) 52k b fd F AU b5 R BT A AL
85 TisE [ 68.55/109.97 [ i 5 ik M Ak FH AU o J= T AL
86 TIliA | 67.83/110.26 [ k) 52k b fd B AU B 2 BT A AL
87 Tk [60.52/165.11 [ i 52 i F UK B J= T A AL
88 T 72558 39/39 At e B b S A 5 2 BT AL
89 TR | 36.14/36.14 [k i) 5 i Ak FH AU o J= T AL
90 Tt | 36.08/36.08 [ k) gz Jk b g A AU B B BT A AL
91 Bt | 41.26/41.26 [k i) 5 i A A B AU o3 )= T A AL
92 Fhng | 31.56/31.56 [ k) 5z b fd F AR B R BT AL
93 Tcfg | 44.21/44.21 R b e S A A AU o3 )= T AL
94 TREyE | 38.32/38.32 [k k) a2 kb fd F AU B R BT A AL
95 TrEE | 40.99/40.99 [k i) 5 i M A A AU o J= T AL
96 T/biE | 38.33/38.33 [ k) gzt b fd A AU B R BT A AL
97 T &5# | 38.33/38.33 [ i) 5 ik M FH AU o J= BT A AL
98 T oRAR | 39.15/136.17 [ k) 52k b fk F AU B R BT A AL
99 T | 28.89/28.89 |k i 5 ik Mk FH AU g J= T A AL
100 sk#EsE | 44.95/89.9 | &AL Hh A B 5 )R T A AL
101 Ewet [ 59.73/119.46 [ i) 5 Ik M Ak F AU o J= T A AL
102 ThHse [ 36.85/117.11 [ v 5 3 M Ak B AU 73 =2 T A AL
103 ERiZs | 34.25/71.54 [k i) s S A B AU o J= T A AL
104 sk | 35.72/74.58 | & o ik A B 5 )= T AL
105 THERE | 35.54/74.17 R i 5o ik i A AU o J= T AL
106 T g | 36.27/75.51 [k gk fd B AR B R BT AL
107 A | 37.82/75.64 |4 i 5k M F AU 3 J= T AL
108 TP | 37.01/77.51 & i) o S A B AU 5 = T A AL
109 T 33/69.11 [ i) 5 L Al FH AU, o J T A AL
110 THE |42.44/133.36 [k i) T H b {87 B AU b5 J2 BT A AL
111 EXUAE | 39.97/82.86 |k i) 5 ik M Ak FH AU o J= T A AL
112 A4 | 37.27/77.35 | RAT I F AU 5 2 BT A AL
113 T | 43.44/97.98 [k b 5o Sk M Ak A AU o J= T AL
114 T4k | 28.38/85.14 [k k) a2k b fi F AU B R BT A AL
115 ARk | 46.14/143.5 [T ki FAUS 75 2 BT L
116 X359 | 55.72/55.72 |4 k) a2k b fd A AR B R BT AL




117

£ RN

39.52/79.04

A B i PR i 2 i A AR

118

FE

39.62/79.24

A B A P AU s J2 T R

119

£ ik

37.51/112.53

AT I A B 55 S T AT A

120

7

39.46/78.92

AT I b A R e s S T A AR

121

W

39.77/79.54

A B FE A F U i 2 i A A

122

EHES

71.54/162.57

A T B £ AR s J2 T AT AR

123

£

52.62/178.08

AT B A B 55 J T AT AL

124

L&

36.86/36.86

A I A P B e 5 S T A AL

125

'S

53.12/195.98

AT I A TR 55 S T AT AR

126

IR

71.68/215.04

A B AT AU s J22 T R

127

EaH

49.85/49.85

A B i PR i 2 i A AR

128

LR

34.9/34.9

A B A AU s J22 T R

129

3%

38.33/38.33

AT I A B 55 S T AT A

130

LR bR

38.33/38.33

AT b A R e s S T AR

131

£t

38.33/38.33

A B FE A F U i 2 i A AR

132

0k

38.33/38.33

A T B £ AR s J2 T AT AR

133

£ R

38.33/38.33

AT B A B 5 J T AT AL

134

ER)E

38.33/38.33

AT I b A P R 5 J T AL

135

FR%

31.31/31.31

AT B A TR 55 S T AT A

136

e

32.21/32.21

A B AT AL s J22 T R

137

T hEsE

68.63/68.64

A B i PR i 2 i A A

138

BN

17.48/17.48

A B A P AU s J22 T R

139

bz

31.46/31.46

AT I A B 55 S T AT A

140

T HigE

33.75/84.31

AT b A R e s S T A AL

141

LR

38.39/38.39

A B A F U i 2 i A A

142

i R

52.92/105.84

A T B £ AR s J2 T AT AR

143

F 4k

72.05/144 .1

AT B A B 55 J T AT AL

144

XU

58.14/58.14

AT I b A P B s S T A AL

145

T i

59.01/59.01

AT I A TR 55 S T AT A

146

ERA

51.8/51.8

A B AT AL s J22 T R

147

£2555

44.92/44.92

A B i PR i 2 i A AR

148

IR R

37.87/37.87

AL B A P AU s J22 T R

149

IR

89.29/335.12

AT I A B 55 S T AT A

150

E R

37.78/82.43

AT b A R e s S T A AL

151

WA

89.17/89.17

A B A PR i 2 i A A

152

FER

52.07/52.07

A T B £ AR s J2 T AT AR

153

oY 8.1

47.75/47.75

AT B A B 55 J T AT AL

154

T

97.28/97.28

AR I A P R e 5 S T AL

155

F AR

52.49/52.49

AT I A TR 55 S T AT AR

156

LR

55.29/55.29

A B AT AL s J22 T R

157

TR RE

34.06/102.18

A B A PR i 2 i A A

158

EAEL

50.58/50.58

AL B A P AU s J22 T R

159

FHRE

62.62/62.62

AT I A B 55 S T AT A

160

HEH

70.11/70.11

AT I b A PR e s J T A AR




